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Simple interest

(साधारण ब्याज)

Concept Lecture – 3
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If A borrowed Rs. 𝑷 at 𝒙 % and 𝑩 borrowed Rs.
𝑸 (> 𝑷) at 𝒚 % per annum at simple interest at
the same time, then the amount of their debts
will be equal after
यदि 𝑨 ने 𝒙% वार्षिक िर पर 𝑷 रु और 𝑩 ने 𝒚%
वार्षिक िर पर 𝑸 रु (> 𝑷 ) एक ही समय पर
(साधारण ब्याज पर) उधार लिए तो ककतने वषि
के बाि उनके ऋण की रालि बराबर हो जाएगी ?
a) 𝟏𝟎𝟎

𝑸−𝑷

𝑷𝒙−𝑸𝒚
years b) 𝟏𝟎𝟎

𝑷𝒙−𝑸𝒚

𝑸−𝑷
years

c) 𝟏𝟎𝟎
𝑷𝒙−𝑸𝒚

𝑷−𝑸
years d) 𝟏𝟎𝟎

𝑷−𝑸

𝑷𝒙−𝑸𝒚
years

SSC CGL 2016 T-2
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A certain sum was invested on simple
interest for a period of seven years. During
the period of the sixth and the seventh
years combined, the interest earned was
₹292. if the maturity amount is ₹3,942, then
what is the rate percentage of the interest?
एक ननश्चित रालि का सात वषीं की अवधध
के लिए साधारण ब्याज पर ननवेि ककया गया
था| छठे और सातवें वषि की अवधध के िौरान
िोनों वषीं का अश्जित ब्याज ₹292 था। यदि
पररपक्वता रालि ₹3,942 है, तो ब्याज की िर
की गणना करें?
a) 5 b) 2
c) 𝟔. 𝟐𝟓 d) 𝟐. 𝟓

SSC MTS, 2 Nov 2021, S3
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The amount obtained by investing a certain
sum at 𝒓% p.a. for 3 years at simple interest is
equal to the simple interest on the same sum at
the same rate for 13 years. The value of 𝒓 is:
𝒓% वार्षिक साधारण ब्याज की िर पर 3 वषि के
लिए ननवेलित ककसी ननश्चित रालि द्वारा प्राप्त
धनरालि, समान रालि पर समान िर पर 13 वषि
में प्राप्त साधारण ब्याज के बराबर है| 𝒓 का
मान ज्ञात करें|
a) 8 b) 10 c) 16 d) 12

SSC MTS, 6 Oct 2021, S3



An amount of Rs.𝟒𝟎𝟎𝟎 becomes Rs.𝟒𝟖𝟎𝟎
in four years at simple interest if the rate of
interest would have been 𝟏% p.a. more
then what would have been the total
amount?
साधारण ब्याज पर िार साि में 𝟒𝟎𝟎𝟎 रुपये
की रालि 𝟒𝟖𝟎𝟎 रुपये हो जाती है। यदि
वार्षिक ब्याज िर 𝟏% ज्यािा होती तो कुि
रालि ककतनी हो जाती?
a) Rs.𝟒𝟏𝟔𝟎 b) Rs.𝟒𝟖𝟔𝟎
c) Rs.𝟒𝟗𝟖𝟎 d) Rs.𝟒𝟗𝟔𝟎

5
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A sum was invested at simple interest at 𝒙%

p.a. for 𝟐
𝟏

𝟐
years. Had it been invested at

𝒙 + 𝟑 % for the same time, it would have
fetched ₹585 more. The simple interest on

the same sum for 𝟒
𝟐

𝟑
years at 𝟏𝟒% p.a. is:

कोई रालि, 𝒙% वार्षिक साधारण ब्याज की
िर पर 𝟐

𝟏

𝟐
वषि के लिए ननवेलित की जाती

है| यदि इस रालि को 𝒙 + 𝟑 % की िर पर
समान समय के लिए ननवेलित ककया जाता,
तो इस रालि से ₹585 अधधक प्राप्त होता|
समान रालि पर 𝟏𝟒% वार्षिक िर से 𝟒

𝟐

𝟑
वषि

में प्राप्त साधारण ब्याज ज्ञात करें|
a) ₹5,096 b) ₹5,460
c) ₹4,732 d) ₹𝟒, 𝟗𝟎𝟎

SSC MTS, 27 Oct 2021, S2
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A certain sum amounts to
₹15,748 in 3 years at 𝒓% p.a.
simple interest. The same sum
amount to ₹16,510 at 𝒓 + 𝟐 %
p.a. simple interest in the same
time. What is the value of 𝒓?
एक ननश्चित धनरालि 𝒓% वार्षिक
साधारण ब्याज पर 3 वषों में
₹15,748 हो जाती है| वही धनरालि
𝒓 + 𝟐 % वार्षिक साधारण ब्याज
पर उतने ही समय में ₹16,510 हो
जाती है| 𝒓 का मान ज्ञात करें|
a) 8 b) 𝟖. 𝟓
c) 𝟗. 𝟓 d) 9

SSC MTS, 27 Oct 2021, S2



𝑹𝒔. 𝟖𝟖𝟎𝟎 becomes 𝑹𝒔. 𝟏𝟐𝟎𝟎𝟎 at a certain

rate of interest in 𝟒 years. If rate of interest

would be 𝟑% more, then find the amount at

the end of 𝟕 years.

एक ननश्चित ब्याज िर से, 𝟒 वषों में 𝟖𝟖𝟎𝟎
रु की धनरालि 𝟏𝟐𝟎𝟎𝟎 रु हो जाती है| यदि
ब्याज िर को 𝟑% अधधक कर दिया जाए, तो
𝟕 वषीं के अंत में लमश्रधन ज्ञात करें?
a) 𝑹𝒔. 𝟏𝟒𝟏𝟐𝟎 b) 𝑹𝒔. 𝟏𝟓𝟒𝟓𝟔

c) 𝑹𝒔. 𝟏𝟔𝟐𝟒𝟖 d) 𝑹𝒔. 𝟏𝟕𝟒𝟐𝟒

8
SI (GP)  
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A sum of money was lent in two parts in the
ratio 𝟒 ∶ 𝟓 for 4 years and 5 years respectively,
both at the rate of 𝟖% per annum simple
interest. If the difference between the interests
earned from the two parts is ₹4680, then what
was the total sum lent (in ₹)?
𝟒 ∶ 𝟓 के अनपुात में कोई धन रालि िो भागों में
क्रमि: 4 वषि और 5 वषि के लिए उधार िी गई,
िोनों भाग को 𝟖% वार्षिक साधारण ब्याज की िर
पर दिया गया है| यदि िोनों भागों से प्राप्त
ब्याज के बीि अंतर ₹4680 था, तो उधार िी गई
कुि रालि (₹ में) ज्ञात करें|
a) 42120 b) 46800
c) 65000 d) 58500

SSC CGL 2020 Tier 1
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6 copies of a book can be bought for a
certain sum payable at the end of a year,
and 7 copies of the same book can be
bought for the same sum in cash money.
What is the rate per annum of simple
interest (correct to one decimal place)?
एक पसु्तक की 6 प्रनतयां एक ननश्चित मलू्य
पर खरीिी जा सकती हैं, श्जनका भगुतान वषि
के अंत में करना है और उसी पसु्तक की 7
प्रनतयां उसी मलू्य पर नकि भगुतान करके
खरीिी जा सकती हैं। साधारण ब्याज की
वार्षिक िर (ििमिव के एक स्थान तक)
ककतनी होगी?
a) 𝟏𝟎. 𝟗% b) 𝟏𝟒. 𝟑%
c) 𝟏𝟔. 𝟕% d) 𝟑𝟎. 𝟒%

SSC MTS, 2 Nov 2021, S2
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A salesperson, with a view to promote sales of an
item, applies the principle of simple interest. He
declares that 300 pieces of the item can be
obtained immediately against cash payment, but
a customer will get only 200 pieces of the item if
he defers the payment for a year. What is the rate
percentage of interest on the whole?
एक र्वके्रता, एक वस्तु की बबक्री को बढावा िेने
की लिए, साधारण ब्याज के लसद्धातं को िागू
करता है। वह घोषणा करता है कक नकि भगुतान
करने पर वस्तु के 300 पीस तुरंत प्राप्त ककए जा
सकते हैं, िेककन यदि ग्राहक एक साि तक
भगुतान रोके रखता है तो उसे वस्तु के केवि 200
पीस लमि सकें गे| कुि बबक्री पर प्रनतित ब्याज
िर की गणना करें?
a) 33.33 b) 25 c) 50 d) 40

SSC MTS, 5 Oct 2021, S1



A sum of money will amount to Rs.𝟕𝟔𝟎 in 𝟑
years and to Rs.𝟖𝟒𝟎 in 𝟕 years at simple
interest, then answer the following:
a) That sum of money
b) Rate of interest
c) Amount in 𝟐 years
d) Amount in 𝟐𝟎 years
e) Amount Rs.𝟗𝟒𝟎 in ? years
एक धनरालि साधारण ब्याज पर, 𝟑 साि में
𝟕𝟔𝟎 रुपये और 𝟕 साि में 𝟖𝟒𝟎 रुपये होती
है,तो ननम्न बताईये:
a) वह रालि
b) ब्याज की िर
c) 𝟐 वषि में लमश्रधन
d) 𝟐𝟎 वषि में लमश्रधन
a) लमश्रधन 𝟗𝟒𝟎 रूपए ककतने सािों में होगा

12



A sum lent out at simple interest amounts to

₹𝟔𝟎𝟕𝟔 in 1 year and ₹𝟕𝟓𝟎𝟒 in 𝟒 years. The sum

and the rate of interest p.a. are respectively:

साधारण ब्याज पर िी गई रािी एक वषि में
₹𝟔𝟎𝟕𝟔और 𝟒 वषि में ₹𝟕𝟓𝟎𝟒 हो जाती है| धनरािी
और प्रनत वषि ब्याज िर क्रमि: है
a) ₹𝟓, 𝟔𝟎𝟎 and 𝟗% b) ₹𝟓, 𝟔𝟎𝟎 and 𝟖. 𝟓%

c) ₹𝟓, 𝟒𝟎𝟎 and 𝟗% d) ₹𝟓, 𝟒𝟎𝟎 and 𝟏𝟎%

SSC CGL 2018 T-2 13
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If a sum of money becomes 𝟒𝟎𝟎𝟎 in 𝟐 yrs
and 𝟓𝟓𝟎𝟎 in 𝟒 yrs 𝟔 months at the same
rate of interest per annum. Then the rate of
simple interest is
यदि कोई रालि साधारण ब्याज की एक ही
(वार्षिक) िर पर 𝟐 वषि में 𝟒𝟎𝟎𝟎 और 𝟒 वषि
𝟔 माह में 𝟓𝟓𝟎𝟎 रु हो जाती है तो साधारण
ब्याज की िर ज्ञात करें ?
a) 𝟐𝟏

𝟑

𝟕
% b) 𝟐𝟏

𝟐

𝟕
%

c) 𝟐𝟏
𝟏

𝟕
% d) 𝟐𝟏

𝟓

𝟕
%

SSC CGL 2016 T-2



A certain sum of money amounts to
Rs.9,766 in 3 years at simple interest at 𝑹%

per annum and to Rs.10,849 in 𝟒
𝟏

𝟐
years at

the same rate of simple interest. The value
of R is:
कोई धन रालि 𝑹% वार्षिक साधारण ब्याज
की िर पर 3 वषि में रु 9,766 हो जाती है और
उसी साधारण ब्याज िर पर 𝟒

𝟏

𝟐
वषि में रु

10,849 हो जाती है| R का मान ज्ञात करें|
a) 8 b) 9 c) 𝟗. 𝟓 d) 𝟖. 𝟓

SSC CHSL 2020
15



A sum of ₹ 𝒙 amounts to ₹ 9,246 in 4

years and to ₹ 11,298.75 in further 𝟑
𝟏

𝟐

years, at 𝒚% p.a. simple interest. The
values of 𝒙 and 𝒚 are, respectively:
₹ 𝒙 की रालि 𝒚% वार्षिक साधारण ब्याज
की िर पर 4 वषि मे ₹9,246 और अगिे
𝟑
𝟏

𝟐
वषि में ₹ 11,298.75 हो जाती है|

a) 6900 and 8.5 b) 6800 and 8.5
c) 6500 and 8 d) 7200 and 7.5

SSC CHSL 2020*
16



According to S.I a sum of Rs.𝟏𝟏𝟐𝟓 amounts
to Rs.𝟏𝟐𝟕𝟓 in ‘𝒏’ years and to Rs.𝟏𝟑𝟕𝟓 in
another 4 years. Find ‘𝒏’?
साधारण ब्याज पर 𝟏𝟏𝟐𝟓रु की रालि ‘𝒏’ वषो
में 𝟏𝟐𝟕𝟓रु बन जाती है व अगिे और 𝟒 वषो
में 𝟏𝟑𝟕𝟓रु बन जाती है| ‘𝒏’ का मान ज्ञात
करे?
a) 𝟐 b) 𝟑 c) 𝟒 d) 𝟔
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At a certain rate of simple interest, if the
ratio of the amount after 𝟐 years to the
amount after 𝟒 years is 𝟗: 𝟏𝟒 then the ratio
of principle and amount after 𝟕 years is:
साधारण ब्याज की ककसी िर पर, अगर 𝟐
वषि के लमश्रधन और 𝟒 वषि के लमश्रधन का
अनपुात 𝟗: 𝟏𝟒 है तो उसी िर पर मिूधन
और 𝟕 वषि के लमश्रधन का अनपुात क्या
होगा?
a) 𝟒: 𝟐𝟏 b) 𝟒: 𝟏𝟗
c) 𝟖: 𝟒𝟑 d) Can’t say

18



A sum of money doubles itself in 𝟖 years. In
how many years will it treble?
साधारण ब्याज से कोई धनरालि 𝟖 साि में
खुि की िोगुनी हो जाती है, तो ककतने सािों
में वह खुि की तीन गुणी हो जाएगी?
a) 𝟏𝟔 years b) 𝟏𝟓 years
c) 𝟏𝟒 years d) 12 years
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A sum of money at simple interest becomes
four times in 𝟑𝟎 years. Then it will be how
many times in 𝟗𝟎 years:
साधारण ब्याज पर धनरालि 𝟑𝟎 साि में खिु
की िार गुना हो जाती है। तो 𝟗𝟎 वषों में यह
ककतने गुणा हो जाएगी?
a) 𝟏𝟐 b) 𝟗 c) 𝟏𝟎 d) None of these

20



A sum of money, at simple interest, trebles of
itself in 𝟏𝟓 years. It will 𝟓 times of itself in
एक धनरािी, साधारण ब्याज पर, 𝟏𝟓 साि में
खुि का तीन गुना हो जाती है। यह अपने
आप का 𝟓 गुना ककतने वषों में होगा?
a) 𝟒𝟎 years b) 𝟑𝟔 years
c) 𝟑𝟎 years d) 𝟐𝟓 years

21



According to S.I., certain sum gets 𝟒 times
in 𝟗 years and 𝟔 times in another ‘𝒏’ years.
साधारण ब्याज की िर से कोई रालि 𝟗 वषो
में 𝟒 गुणा हो जाती है तो इसे 𝟔 गुणा होने
में ककतना वषि िगेंगे?
a) 𝟓 b) 𝟔 c) 𝟗 d) 𝟏𝟓

22
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